ROADS WITHOUT PAVEMENTS

Many roads do not have pavements. On such roads pedestrians have to be even more
careful. Walk on the right hand side of the road if there Is no pavement. On this side you
face the traffic coming from the front and can see any car in good time. It is also easy to
step off the edge of the road to move out of the way. Drivers do not see pedestrians easily.
Pedestrians must walk as far off the road as possible.

NUMBER PUZZLE

Do the calculation in the top block. Find the letter that is the same as the answer of the

calculation by looking at the alphabet below. As an example take the first block 100 - 34
= 66. The letter corresponding to 66 is W.
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ABCDEFGH I JKLMNOPGRSTUVWXYZ
106128 9 3 17258054642832428136484515 2 5055660 1 4

THE SHORTEST WAY

The longer you stay on the road the more time there is to get run over by a car. Peter
wants to cross this road, He must choose the shortest distance so that he crosses in the
shortest time. Which set of footprints must he follow? Colour them green.




